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1.         +  96  =  302 2. 372  +           =  589

3. 17.8  +           =  64 4.          +  13.6  =  36.1

5.          -  317  =  508 6. 1074  -           =  413

7. 67.3  -           =  48.5 8.          -  34.7  =  86.8

9.        ×  31  =  1736 10. 26  ×         =  988

11. 2.5  ×          =  11.75 12.         ×  8.3  =  28.22

13.            ÷  56  =  47 14. 646  ÷          =  34

15. 86.7  ÷          =  10.2 16.            ÷  3.9  =  6.7

17. 347  +           =  628 18.          -  161  =  557

19. 34  ×          =  2006 20. 391  ÷          =  23

21.         +  9.6  =  17.4 22.         ×  43  =  2408

23.            ÷  67  =  84 24. 50  +            =  63.4

25.           -  5.68  =  1.76 26. 7.84  ×            =  26.5776

27. 9.08  +           =  15.64 28.            ÷  77  =  61

29. 11.26  -            =  3.48 30.           -  6.25  =  1.87

31.          ×  3.7  =  13.69 32.          +  7.36  =  13.19

33. 11.04  ÷            =  4.8 34.          ×  2.6  =  6.76

35.           +  30  =  47.6 36.          -  3.27  =  6.73

37. 5.81  ×            =  23.9372 38. 53.58  ÷           =  9.4

39.          -  1.04  =  9.96 40. 14.46  -            =  8.79

41.               +  36.8  =  202 42.              ×  0.07  =  0.084

43.               ÷  0.06  =  27.8 44. 0.986  +                =  2.624

45. 0.1024   ÷              =  0.04 46.               ÷  0.35  =  67.2

47.              ×  0.037  =  1.7316 48.             ×  1.87  =  0.1122

49. 0.021  ×              =  0.3444 50. 0.8959   ÷              =  0.17

Missing  Numbers - 6

In each of the sums given below a number has been left out, as shown by an empty rectangular box.
Work out what the missing number is and write it in the box.


